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When  y  is  0 , it means CM display. When  y  is  1 , it means inch display.

  y  said anti-collision sensitivity of Gyro-sensor , 0 means closed, 
1 is the most sensitive and 8 is the most insensitive.
  y  said anti-collision sensitivity of current when desk is going up, 0 means 
closed, 1 is the most sensitive and 8 is the most insensitive.
  y  said anti-collision sensitivity of current when desk is going down, 
0 means closed, 1 is the most sensitive and 8 is the most insensitive.

  y  said anti-collision sensitivity of current when desk is slant, 0 means 
closed, 1 is the most sensitive and 8 is the most insensitive.
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